JS≣

CURRENCY DERIVATIVES

CURRENCY FUTURES AND OPTIONS MATCHED TRADES

REPORT FOR 08/01/2015

Johannesburg Stock Exchange

One Exchange Square, Gwen Lane, Sandown, South Africa Private Bag X991174 Sandton 2146

Tel: +27 11 520 7000 Fax: +27 11 520 8584

www.jse.co.za

Registration number: 2005/022939/06

VAT number: 4080119391

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
8:12:33	\$ / R 12/06/2015	Foreign Exchange Future	0.00	1	1,000	2,000	2,000,000	11.9854		23,970,800.00 Client	Buy
8:12:33	\$ / R 12/06/2015	Foreign Exchange Future	0.00	1	1,000	2,000	2,000,000	11.9854		(23,970,800.00) Member	Sell
9:01:57	\$ / R 12/06/2015	Foreign Exchange Future	0.00	1	1,000	18	18,000	12.0200		(216,360.00) Member	Sell
9:01:57	\$ / R 12/06/2015	Foreign Exchange Future	0.00	1	1,000	18	18,000	12.0200		216,360.00 Client	Buy
9:18:30	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	11.8310		(23,662.00) Member	Sell
9:18:30	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	11.8310		23,662.00 Client	Buy
9:26:30	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	11.8206		5,910,300.00 Member	Buy
9:26:30	\$ / R 12/06/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	12.0004		6,000,200.00 Member	Buy
9:26:30	\$ / R 12/06/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	12.0004		(6,000,200.00) Member	Sell
9:26:30	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	11.8206		(5,910,300.00) Member	Sell
9:26:40	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	270	270,000	11.8094		(3,188,538.00) Member	Sell
9:26:40	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	270	270,000	11.8094		3,188,538.00 Member	Buy
9:27:01	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	40	40,000	11.8112		472,448.00 Member	Buy
9:27:13	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	750	750,000	11.8119		(8,858,925.00) Member	Sell
9:27:13	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	750	750,000	11.8119		8,858,925.00 Member	Buy
9:34:54	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	1	1,000	11.8046		(11,804.60) Client	Sell
9:34:54	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	1	1,000	11.8046		11,804.60 Member	Buy
9:52:23	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	40	40,000	11.8101		472,404.00 Client	Buy

Page 1 of 9 2015/01/08, 06:21:44PM

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
9:53:27	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	2	2,000	11.8100		23,620.00 Client	Buy
9:53:27	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	2	2,000	11.8100		(23,620.00) Member	Sell
9:54:41	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	20	20,000	11.8001		(236,002.00) Member	Sell
9:54:41	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	20	20,000	11.8001		236,002.00 Client	Buy
9:54:50	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	7	7,000	11.7945		(82,561.50) Member	Sell
9:54:50	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	7	7,000	11.7945		82,561.50 Client	Buy
9:54:55	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	750	750,000	11.7862		(8,839,650.00) Member	Sell
9:54:55	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	750	750,000	11.7862		8,839,650.00 Member	Buy
10:02:13	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	20	20,000	11.7901		(235,802.00) Member	Sell
10:02:13	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	20	20,000	11.7901		235,802.00 Client	Buy
10:05:16	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	125	125,000	11.7800		(1,472,500.00) Member	Sell
10:05:16	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	125	125,000	11.7800		1,472,500.00 Client	Buy
10:14:05	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.40	1	1,000	1,500	1,500,000	140.0000		210,000,000.00 Member	Buy
10:15:51	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	20	20,000	11.7701		(235,402.00) Member	Sell
10:15:51	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	20	20,000	11.7701		235,402.00 Client	Buy
10:16:22	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.40	1	1,000	1,500	1,500,000	140.0000		(210,000,000.00) Client	Sell
10:16:22	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.40	1	1,000	1,500	1,500,000	140.0000		210,000,000.00 Member	Buy
10:17:03	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	11.9505		11,950,500.00 Client	Buy
10:17:03	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	11.9505		(11,950,500.00) Member	Sell
10:20:28	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	35	35,000	11.7673		(411,855.50) Member	Sell
10:20:28	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	35	35,000	11.7673		411,855.50 Member	Buy
10:21:17	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.7667		117,667.00 Member	Buy
10:21:17	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.7667		(117,667.00) Client	Sell
10:23:12	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	70	70,000	11.7666		(823,662.00) Member	Sell
10:23:22	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	7	7,000	11.7666		(82,366.20) Member	Sell
10:25:23	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	230	230,000	11.7580		(2,704,340.00) Member	Sell
10:25:23	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	230	230,000	11.7580		2,704,340.00 Member	Buy
10:33:08	\$ / R 16/03/2015	Foreign Exchange Future	С	12.05	1	1,000	1,000	1,000,000	162.0000		162,000,000.00 Member	Buy
10:33:11	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	100	100,000	11.7598		1,175,980.00 Member	Buy
10:33:11	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	100	100,000	11.7598		(1,175,980.00) Member	Sell
10:34:46	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	100	100,000	11.7624		(1,176,240.00) Member	Sell
10:34:46	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	100	100,000	11.9350		1,193,500.00 Member	Buy
10:34:46	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	100	100,000	11.7624		1,176,240.00 Member	Buy
10:36:26	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	100	100,000	11.9350		1,193,500.00 Member	Buy
10:36:26	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	100	100,000	11.9350		(1,193,500.00) Client	Sell
10:38:35	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	40	40,000	11.7601		470,404.00 Client	Buy
10:38:35	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	50	50,000	11.7600		(588,000.00) Member	Sell
10:38:35	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	40	40,000	11.7601		(470,404.00) Member	Sell
10:38:35	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	50	50,000	11.7600		588,000.00 Client	Buy
10:38:51	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	2	2,000	11.7600		(23,520.00) Member	Sell
10:38:51	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	2	2,000	11.7600		23,520.00 Client	Buy
10:39:36	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.7543		117,543.00 Client	Buy
10:39:36	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.7543		(117,543.00) Member	Sell

Page 2 of 9 2015/01/08, 06:21:44PM

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
10:39:57	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	3	3,000	11.7548		35,264.40 Client	Buy
10:39:57	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	3	3,000	11.7548		(35,264.40) Member	Sell
10:40:10	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	5	5,000	11.7533		(58,766.50) Member	Sell
10:40:10	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	5	5,000	11.7533		58,766.50 Client	Buy
10:48:30	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	500	500,000	11.9439		5,971,950.00 Member	Buy
10:48:30	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	500	500,000	11.9439		(5,971,950.00) Member	Sell
11:07:48	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	500	500,000	11.9571		(5,978,550.00) Member	Sell
11:14:46	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	500	500,000	11.9571		5,978,550.00 Client	Buy
11:14:46	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	500	500,000	11.9571		(5,978,550.00) Member	Sell
11:20:26	\$ / R 16/03/2015	Foreign Exchange Future	С	12.05	1	1,000	1,000	1,000,000	162.0000		162,000,000.00 Member	Buy
11:20:26	\$ / R 16/03/2015	Foreign Exchange Future	С	12.05	1	1,000	1,000	1,000,000	162.0000		(162,000,000.00) Client	Sell
11:22:42	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	1	1,000	11.7683		(11,768.30) Client	Sell
11:22:42	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	1	1,000	11.7683		11,768.30 Client	Buy
11:23:21	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	99	99,000	11.7662		(1,164,853.80) Client	Sell
11:23:21	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	99	99,000	11.7662		1,164,853.80 Member	Buy
11:24:41	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	1	1,000	11.9425		(11,942.50) Client	Sell
11:24:41	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	1	1,000	11.9425		11,942.50 Member	Buy
11:25:05	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	49	49,000	11.9434		(585,226.60) Client	Sell
11:25:05	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	49	49,000	11.9434		585,226.60 Member	Buy
11:26:31	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	1	1,000	11.7721		11,772.10 Member	Buy
11:26:31	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	1	1,000	11.7721		(11,772.10) Client	Sell
11:27:04	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	500	500,000	11.7733		(5,886,650.00) Member	Sell
11:27:04	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	500	500,000	11.7733		5,886,650.00 Member	Buy
11:30:32	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	700	700,000	11.9535		8,367,450.00 Member	Buy
11:30:32	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	700	700,000	11.9535		(8,367,450.00) Member	Sell
11:31:11	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	300	300,000	11.9652		3,589,560.00 Member	Buy
11:31:11	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	300	300,000	11.9652		(3,589,560.00) Member	Sell
11:32:23	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	1	1,000	11.7845		(11,784.50) Member	Sell
11:32:23	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	1	1,000	11.7845		11,784.50 Client	Buy
11:40:04	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	44	44,000	11.7891		(518,720.40) Member	Sell
11:40:04	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	44	44,000	11.7891		518,720.40 Client	Buy
11:41:31	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	5	5,000	11.7845		58,922.50 Member	Buy
11:41:31	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	5	5,000	11.7845		(58,922.50) Client	Sell
11:47:04	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.7889		(117,889.00) Member	Sell
11:47:04	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.7889		117,889.00 Client	Buy
11:47:44	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.9690		119,690.00 Member	Buy
11:47:44	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.9690		(119,690.00) Member	Sell
11:49:49	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	3	3,000	11.7814		(35,344.20) Client	Sell
11:49:49	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	3	3,000	11.7814		35,344.20 Member	Buy
12:12:58	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	1	1,000	11.7805		(11,780.50) Client	Sell
12:12:58	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	1	1,000	11.7805		11,780.50 Member	Buy
12:18:28	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	500	500,000	11.7913		5,895,650.00 Member	Buy
12:19:52	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	100	100,000	11.8066		(1,180,660.00) Client	Sell

Page 3 of 9 2015/01/08, 06:21:44PM

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
12:19:52	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	20	20,000	11.7907		235,814.00 Member	Buy
12:25:50	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	1	1,000	11.7824		11,782.40 Client	Buy
12:25:50	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	1	1,000	11.7824		(11,782.40) Member	Sell
12:27:19	\$ / R 12/06/2015	Foreign Exchange Future	0.00	1	1,000	1	1,000	11.9606		11,960.60 Member	Buy
12:27:19	\$ / R 12/06/2015	Foreign Exchange Future	0.00	1	1,000	1	1,000	11.9606		(11,960.60) Member	Sell
12:27:27	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	750	750,000	11.7749		(8,831,175.00) Member	Sell
12:27:27	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	750	750,000	11.7749		8,831,175.00 Member	Buy
12:30:46	\$ / R 12/06/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	11.9665		(5,983,250.00) Member	Sell
12:31:50	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	4	4,000	11.7650		(47,060.00) Member	Sell
12:31:50	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	4	4,000	11.7650		47,060.00 Client	Buy
12:32:16	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	11.7643		(588,215.00) Member	Sell
12:32:16	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	11.7643		588,215.00 Client	Buy
12:32:30	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	11.7610		23,522.00 Client	Buy
12:32:30	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	11.7610		(23,522.00) Member	Sell
12:32:30	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	18	18,000	11.7601		(211,681.80) Member	Sell
12:32:30	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	18	18,000	11.7601		211,681.80 Client	Buy
12:38:42	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	11.7601		(23,520.20) Member	Sell
12:38:42	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	11.7601		23,520.20 Client	Buy
12:40:06	\$ / R 12/06/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	11.9665		(5,983,250.00) Member	Sell
12:40:06	\$ / R 12/06/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	11.9665		5,983,250.00 Client	Buy
12:40:34	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	750	750,000	11.7558		(8,816,850.00) Member	Sell
12:40:34	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	11.7550		(587,750.00) Member	Sell
12:40:34	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	11.7550		587,750.00 Client	Buy
12:40:34	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	750	750,000	11.7558		8,816,850.00 Member	Buy
12:41:53	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	20	20,000	11.7510		(235,020.00) Member	Sell
12:44:08	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	20	20,000	11.7501		235,002.00 Client	Buy
12:44:08	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	20	20,000	11.7501		(235,002.00) Member	Sell
12:44:08	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	20	20,000	11.7501		(235,002.00) Member	Sell
12:44:08	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	20	20,000	11.7501		235,002.00 Client	Buy
12:44:09	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	11.7464		587,320.00 Member	Buy
12:44:09	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	11.7464		(587,320.00) Client	Sell
12:44:54	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	11.7523		(23,504.60) Client	Sell
12:44:54	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	11.7523		23,504.60 Member	Buy
12:48:01	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	11.7644		(5,882,200.00) Member	Sell
12:48:01	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	11.7644		5,882,200.00 Member	Buy
12:49:30	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.7688		117,688.00 Client	Buy
12:49:30	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.7688		(117,688.00) Member	Sell
13:21:01	\$ / R 12/06/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	11.9322		5,966,100.00 Member	Buy
13:21:01	\$ / R 12/06/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	11.9322		(5,966,100.00) Member	Sell
13:40:32	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	20	20,000	11.7500		(235,000.00) Member	Sell
13:41:52	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.7500		(117,500.00) Client	Sell
13:41:52	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.7500		117,500.00 Member	Buy
13:43:30	\$ / R 16/03/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	11.7518		23,503.60 Member	Buy

Page 4 of 9 2015/01/08, 06:21:44PM

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
13:43:30	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	2	2,000	11.7518		(23,503.60) Client	Sell
13:51:23	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.7450		117,450.00 Client	Buy
13:51:23	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.7450		(117,450.00) Member	Sell
14:05:54	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	4	4,000	11.7450		(46,980.00) Client	Sell
14:05:54	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	4	4,000	11.7450		46,980.00 Member	Buy
14:12:09	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	300	300,000	11.7506		3,525,180.00 Member	Buy
14:23:51	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	500	500,000	11.9354		(5,967,700.00) Member	Sell
14:33:02	\$ / R 22/01/2015	Any day expiry	С	11.63	1	1,000	5,000	5,000,000	139.6000		698,000,000.00 Client	Buy
14:33:02	\$ / R 22/01/2015	Any day expiry	С	11.63	1	1,000	5,000	5,000,000	139.6000		(698,000,000.00) Member	Sell
14:36:39	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	1	1,000	11.7652		11,765.20 Client	Buy
14:36:39	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	1	1,000	11.7652		(11,765.20) Member	Sell
14:37:05	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.40	1	1,000	2,000	2,000,000	149.0000		298,000,000.00 Member	Buy
14:50:42	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	1	1,000	11.7630		11,763.00 Client	Buy
14:50:42	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	1	1,000	11.7630		(11,763.00) Member	Sell
14:53:24	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	500	500,000	11.9354		(5,967,700.00) Member	Sell
14:53:24	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	500	500,000	11.9354		5,967,700.00 Client	Buy
14:53:29	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.40	1	1,000	2,000	2,000,000	149.0000		(298,000,000.00) Client	Sell
14:53:29	\$ / R 12/06/2015	Foreign Exchange Future	Р	11.40	1	1,000	2,000	2,000,000	149.0000		298,000,000.00 Member	Buy
15:05:08	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	1	1,000	11.9346		11,934.60 Member	Buy
15:05:08	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	1	1,000	11.9346		(11,934.60) Member	Sell
15:09:14	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	100	100,000	11.7550		(1,175,500.00) Member	Sell
15:09:14	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	100	100,000	11.7550		1,175,500.00 Client	Buy
15:18:19	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	500	500,000	11.7647		(5,882,350.00) Member	Sell
15:18:19	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	500	500,000	11.7647		5,882,350.00 Member	Buy
15:19:36	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	150	150,000	12.1260		1,818,900.00 Member	Buy
15:19:36	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	150	150,000	12.1260		(1,818,900.00) Client	Sell
15:26:17	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	75	75,000	11.7515		(881,362.50) Member	Sell
15:26:17	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	75	75,000	11.7515		881,362.50 Client	Buy
15:27:18	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	20	20,000	11.7500		235,000.00 Client	Buy
15:27:18	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	20	20,000	11.7500		(235,000.00) Member	Sell
15:33:04	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	300	300,000	11.7506		3,525,180.00 Member	Buy
15:33:04	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	300	300,000	11.7506		(3,525,180.00) Client	Sell
15:35:44	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	500	500,000	11.9259		5,962,950.00 Member	Buy
15:35:44	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	500	500,000	11.9259		(5,962,950.00) Member	Sell
15:41:00	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	750	750,000	11.7501		8,812,575.00 Member	Buy
15:41:00	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	750	750,000	11.7501		(8,812,575.00) Member	Sell
15:50:55	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	500	500,000	11.7913		(5,895,650.00) Client	Sell
15:50:55	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	500	500,000	11.7913		5,895,650.00 Member	Buy
15:55:11	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	500	500,000	11.7528		5,876,400.00 Member	Buy
15:55:11	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	500	500,000	11.7528		(5,876,400.00) Member	Sell
15:58:15	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	3	3,000	11.7500		35,250.00 Client	Buy
15:58:15	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	2	2,000	11.7500		(23,500.00) Member	Sell
16:00:01	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	50	50,000	11.7450		587,250.00 Client	Buy

Page 5 of 9 2015/01/08, 06:21:44PM

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
16:00:01	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	50	50,000	11.7450		(587,250.00) Member	Sell
16:01:33	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	500	500,000	11.7467		5,873,350.00 Member	Buy
16:01:33	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	500	500,000	11.7467		(5,873,350.00) Member	Sell
16:02:11	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	750	750,000	11.7402		(8,805,150.00) Member	Sell
16:02:11	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	750	750,000	11.7402		8,805,150.00 Member	Buy
16:02:54	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	50	50,000	11.7440		587,200.00 Member	Buy
16:02:54	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	50	50,000	11.7440		(587,200.00) Member	Sell
16:08:10	\$ / R 16/03/2015	Foreign Exchange Future	Р	11.40	1	1,000	1,500	1,500,000	112.0000		(168,000,000.00) Member	Sell
16:12:06	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.7482		(117,482.00) Member	Sell
16:29:41	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	15	15,000	11.7467		176,200.50 Client	Buy
16:29:41	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	15	15,000	11.7467		(176,200.50) Member	Sell
16:36:02	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	3,000	3,000,000	11.7509		35,252,700.00 Client	Buy
16:36:02	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	3,000	3,000,000	11.7509		(35,252,700.00) Member	Sell
16:40:53	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	4,987	4,987,000	11.7500		58,597,250.00 Member	Buy
16:40:53	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	4,987	4,987,000	11.7500		(58,597,250.00) Member	Sell
16:41:24	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	11,531	11,531,000	11.7538		(135,533,067.80) Member	Sell
16:42:01	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	1	1,000	11.7500		(11,750.00) Client	Sell
16:44:51	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	50	50,000	11.7430		(587,150.00) Member	Sell
16:44:51	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	50	50,000	11.7430		587,150.00 Client	Buy
16:45:19	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	4,029	4,029,000	11.7538		(47,356,060.20) Member	Sell
16:45:19	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	361	361,000	11.7538		4,243,121.80 Client	Buy
16:45:19	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	6,233	6,233,000	11.7538		(73,261,435.40) Member	Sell
16:45:19	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	361	361,000	11.7538		(4,243,121.80) Member	Sell
16:45:19	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	751	751,000	11.7538		8,827,103.80 Client	Buy
16:45:19	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	4,029	4,029,000	11.7538		47,356,060.20 Client	Buy
16:45:19	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	6,233	6,233,000	11.7538		73,261,435.40 Client	Buy
16:45:19	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	157	157,000	11.7538		(1,845,346.60) Member	Sell
16:45:19	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	751	751,000	11.7538		(8,827,103.80) Member	Sell
16:45:19	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	157	157,000	11.7538		1,845,346.60 Client	Buy
16:48:07	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	11.7410		(117,410.00) Client	Sell
16:49:27	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	20	20,000	11.7401		234,802.00 Client	Buy
16:49:27	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	20	20,000	11.7401		(234,802.00) Member	Sell
16:49:27	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	20	20,000	11.7401		(234,802.00) Member	Sell
16:49:27	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	20	20,000	11.7401		234,802.00 Client	Buy
16:50:42	\$ / R 16/03/2015	Foreign Exchange Future	Р	11.40	1	1,000	1,500	1,500,000	112.0000		168,000,000.00 Client	Buy
16:50:42	\$ / R 16/03/2015	Foreign Exchange Future	Р	11.40	1	1,000	1,500	1,500,000	112.0000		(168,000,000.00) Member	Sell
16:51:45	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	30	30,000	11.7330		351,990.00 Client	Buy
16:51:45	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	30	30,000	11.7330		(351,990.00) Member	Sell
16:57:23	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	15	15,000	11.7280		(175,920.00) Member	Sell
16:57:23	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	5	5,000	11.7275		(58,637.50) Member	Sell
16:57:23	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	5	5,000	11.7275		58,637.50 Client	Buy
17:06:17	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	11.7234		(11,723,400.00) Member	Sell
17:10:40	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	11.7234		(11,723,400.00) Member	Sell

Page 6 of 9 2015/01/08, 06:21:44PM

Matched Time	Contract Details	Product	Call/ St Put	rike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
17:10:40	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	11.7234		11,723,400.00 Client	Buy
17:13:13	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	11.7215		11,721,500.00 Member	Buy
17:13:13	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	4,000	4,000,000	11.7215		46,886,000.00 Member	Buy
17:14:48	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	77	77,000	11.7666		906,028.20 Client	Buy
17:14:48	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	77	77,000	11.7666		(906,028.20) Member	Sell
17:21:55	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	4,000	4,000,000	11.7215		46,886,000.00 Member	Buy
17:21:55	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	4,000	4,000,000	11.7215		(46,886,000.00) Client	Sell
17:30:00	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	11.7215		(11,721,500.00) Client	Sell
17:30:00	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	11.7215		11,721,500.00 Member	Buy
Total Futu	res				114		53,779	53,778,500			633 771 329.40	
Total Option	ons				7		14,000	14,000,000			1 955 000 000.00	
Total for \$	/ R Foreign Exchange	Future			121		67,779	67,778,500			2,588,771,329.40	
9:26:30	\$ / R MAXI 16/03/2015	Foreign Exchange Future		0.00	1	100,000	5	500,000	11.8196		5,909,800.00 Member	Buy
9:26:30	\$ / R MAXI 16/03/2015	Foreign Exchange Future		0.00	1	100,000	5	500,000	11.8196		(5,909,800.00) Member	Sell
9:26:40	\$ / R MAXI 16/03/2015	Foreign Exchange Future		0.00	1	100,000	4	400,000	11.8094		(4,723,760.00) Member	Sell
9:26:40	\$ / R MAXI 16/03/2015	Foreign Exchange Future		0.00	1	100,000	4	400,000	11.8094		4,723,760.00 Member	Buy
10:48:30	\$ / R MAXI 12/06/2015	Foreign Exchange Future		0.00	1	100,000	7	700,000	11.9439		8,360,730.00 Member	Buy
10:48:30	\$ / R MAXI 12/06/2015	Foreign Exchange Future		0.00	1	100,000	7	700,000	11.9439		(8,360,730.00) Member	Sell
11:28:10	\$ / R MAXI 16/03/2015	Foreign Exchange Future		0.00	1	100,000	1	100,000	11.7744		1,177,440.00 Member	Buy
11:28:10 12:27:27	\$ / R MAXI 16/03/2015 \$ / R MAXI 16/03/2015	Foreign Exchange Future		0.00	1 1	100,000	1 6	100,000 600,000	11.7744 11.7749		(1,177,440.00) Member	Sell
12:27:27	\$ / R MAXI 16/03/2015	Foreign Exchange Future Foreign Exchange Future		0.00	1	100,000 100,000	6	600,000	11.7749		(7,064,940.00) Member 7,064,940.00 Member	Sell Buy
12:33:56	\$ / R MAXI 16/03/2015	Foreign Exchange Future		0.00	1	100,000	7	700,000	11.7616		(8,233,120.00) Member	Sell
12:33:56	\$ / R MAXI 16/03/2015	Foreign Exchange Future		0.00	1	100,000	7	700,000	11.7616		8,233,120.00 Member	Buy
14:51:50	\$ / R MAXI 16/03/2015	Foreign Exchange Future		0.00	1	100,000	10	1,000,000	11.7630		11,763,000.00 Client	Buy
14:51:50	\$ / R MAXI 16/03/2015	Foreign Exchange Future		0.00	1	100,000	10	1,000,000	11.7630		(11,763,000.00) Member	Sell
15:41:00	\$ / R MAXI 16/03/2015	Foreign Exchange Future		0.00	1	100,000	7	700,000	11.7501		8,225,070.00 Member	Buy
15:41:00	\$ / R MAXI 16/03/2015	Foreign Exchange Future		0.00	1	100,000	7	700,000	11.7501		(8,225,070.00) Member	Sell
16:02:29	\$ / R MAXI 16/03/2015	Foreign Exchange Future		0.00	1	100,000	3	300,000	11.7377		(3,521,310.00) Member	Sell
16:02:29	\$ / R MAXI 16/03/2015	Foreign Exchange Future		0.00	1	100,000	3	300,000	11.7377		3,521,310.00 Member	Buy
Total Futu	res				9		50	5,000,000			58 979 170.00	
Total Option	ons											
Total for \$	/ R MAXI Foreign Exc	hange Future			9		50	5,000,000			58,979,170.00	
9:22:01	£ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	25	25,000	17.8055		(445,137.50) Member	Sell
9:22:01	£ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	25	25,000	17.8055		445,137.50 Client	Buy
9:34:03	£ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	25	25,000	18.3381		(458,452.50) Member	Sell
9:34:03	£ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	25	25,000	18.3381		458,452.50 Client	Buy
9:52:11	£ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	5	5,000	17.7834		(88,917.00) Member	Sell
9:52:11	£ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	5	5,000	17.7834		88,917.00 Client	Buy

Page 7 of 9 2015/01/08, 06:21:44PM

1002016 E./R 190032016 Foreign Exchange Future 0.00 1	/latched Time	Contract Details	Product	Call/ : Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
1008-12 E./R. 16032015 Foreign Exchange Puture 0.00 1 1.000 5 5.000 17.7244 8.68.022.00 Client 1023-15 E./R. 16032015 Foreign Exchange Puture 0.00 1 1.000 6 6.000 17.6867 1106.100.20 Client 1023-15 E./R. 16032015 Foreign Exchange Future 0.00 1 1.000 0 6 6.000 17.6867 1106.100.20 Client 1023-15 E./R. 16032015 Foreign Exchange Future 0.00 1 1.000 10 100.000 17.6867 1106.100.20 Client 1023-15 E./R. 16032015 Foreign Exchange Future 0.00 1 1.000 100 100.000 17.6864 1.768.00.00 Memb 1025-16 E./R. 16032015 Foreign Exchange Future 0.00 1 1.000 20 20.000 17.6864 4.42.12.00.00 Memb 1045-20 E./R. 16032015 Foreign Exchange Future 0.00 1 1.000 20 20.000 17.6864 4.42.12.00.00 Memb 1045-20 E./R. 16032015 Foreign Exchange Future 0.00 1 1.000 20 20.000 17.6864 4.42.12.00.00 Memb 12.7272 E./R. 16032015 Foreign Exchange Future 0.00 1 1.000 20 20.000 17.7258 4.431-45.00 Memb 12.7272 E./R. 16032015 Foreign Exchange Future 0.00 1 1.000 20 20.000 17.7258 4.431-45.00 Memb 12.7272 E./R. 16032015 Foreign Exchange Future 0.00 1 1.000 20 20.000 17.7258 4.431-45.00 Memb 12.7272 E./R. 16032015 Foreign Exchange Future 0.00 1 1.000 20 20.000 17.7258 4.431-45.00 Memb 12.7272 E./R. 16032015 Foreign Exchange Future 0.00 1 1.000 20 20.000 17.6864 30.8852.00 Memb 12.7259 E./R. 16032015 Foreign Exchange Future 0.00 1 1.000 20 20.000 17.6864 30.8852.00 Memb 12.7259 E./R. 16032015 Foreign Exchange Future 0.00 1 1.000 20 20.000 17.7098 44.7722.50 Memb 12.7259 Memb 12.72	0:02:01	£ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	5	5,000	17.7633		(88,816.50) Member	Sell
10.0812.5 E./R. 160332015 Foreign Exhange Future 0.00 1 1.000 6 6.000 17.8987 106.180.20 Member 10.281.5 E./R. 160332015 Foreign Exhange Future 0.00 1 1.000 10 10.000 17.8987 106.180.20 Member 10.2846 E./R. 160332015 Foreign Exhange Future 0.00 1 1.000 10 10.000 17.8987 106.180.20 Member 10.2846 E./R. 160332015 Foreign Exhange Future 0.00 1 1.000 10 10 10.000 17.8984 1.789.60.00 Member 10.8830 E./R. 160332015 Foreign Exhange Future 0.00 1 1.000 250 250.000 17.8984 4.421.200.0 Member 12.2722 E./R. 160332015 Foreign Exhange Future 0.00 1 1.000 250 250.000 17.8984 4.421.200.0 Member 12.2722 E./R. 160332015 Foreign Exhange Future 0.00 1 1.000 250 250.000 17.7288 4.431.480.00 Member 12.2722 E./R. 160332015 Foreign Exhange Future 0.00 1 1.000 250 250.000 17.7288 4.431.480.00 Member 12.2722 E./R. 160332015 Foreign Exhange Future 0.00 1 1.000 250 250.000 17.7288 4.431.480.00 Member 12.2722 E./R. 160332015 Foreign Exhange Future 0.00 1 1.000 250 250.000 17.7288 4.431.480.00 Member 12.2728 E./R. 160332015 Foreign Exhange Future 0.00 1 1.000 250 250.000 17.7288 4.431.480.00 Member 12.2728 E./R. 160332015 Foreign Exhange Future 0.00 1 1.000 250 250.000 17.8984 30.980.20 Client 12.298 Member	0:02:01	£ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	5	5,000	17.7633		88,816.50 Client	Buy
10.2315 E / R 16032015 Foreign Exchange Future 0.00 1 1.000 6 6.000 17.6867 1106.180.20 Memio 10.2816 E / R 16032015 Foreign Exchange Future 0.00 1 1.000 10 100.000 17.6864 1769.040.00 Memio 10.2846 E / R 16032015 Foreign Exchange Future 0.00 1 1.000 10 100.000 17.6804 1.769.040.00 Memio 10.2846 E / R 16032015 Foreign Exchange Future 0.00 1 1.000 20 250.000 17.6844 4.421.200.00 Memio 10.4830 E / R 16032015 Foreign Exchange Future 0.00 1 1.000 25 250.000 17.6848 4.421.200.00 Memio 10.4830 E / R 16032015 Foreign Exchange Future 0.00 1 1.000 25 250.000 17.6848 4.421.200.00 Memio 12.2727 E / R 16032015 Foreign Exchange Future 0.00 1 1.000 25 250.000 17.7258 4.431.450.00 Memio 12.2727 E / R 16032015 Foreign Exchange Future 0.00 1 1.000 25 250.000 17.7258 4.431.450.00 Memio 12.2727 E / R 16032015 Foreign Exchange Future 0.00 1 1.000 25 250.000 17.7258 4.431.450.00 Memio 14.2216 E / R 16032015 Foreign Exchange Future 0.00 1 1.000 25 250.000 17.7258 4.431.450.00 Memio 14.2216 E / R 16032015 Foreign Exchange Future 0.00 1 1.000 25 250.000 17.7694 350.862.00 Memio 14.2216 E / R 16032015 Foreign Exchange Future 0.00 1 1.000 25 250.000 17.7694 42.722.250 Memio 14.2950 E / R 16032015 Foreign Exchange Future 0.00 1 1.000 25 250.000 17.7694 42.722.250 Memio 14.2950 E / R 16032015 Foreign Exchange Future 0.00 1 1.000 3 3.000 3.3000 3.3932 41.736.00 Memio 1.000	0:08:12	£ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	5	5,000	17.7244		(88,622.00) Member	Sell
10.2316 E / R 16.003/2015 Foreign Exchange Future 0.00 1 1.000 1.000 17.6967 10.100,000 17.6	0:08:12	£ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	5	5,000	17.7244		88,622.00 Client	Buy
10.2846 E. R. 1803/2015 Foreign Exchange Future 0.00 1 1.000 100 100,000 17,8904 1,780,040.00 Member 10.8284 E. R. 1803/2015 Foreign Exchange Future 0.00 1 1.000 100 100,000 17,8904 1,780,040.00 Client 10.830 E. R. 1803/2015 Foreign Exchange Future 0.00 1 1.000 250 250,000 17,848 4,421,200.00 Member 12,277.27 E. R. 1803/2015 Foreign Exchange Future 0.00 1 1.000 250 250,000 17,7285 4,431,450.00 Member 12,277.27 E. R. 1803/2015 Foreign Exchange Future 0.00 1 1.000 250 250,000 17,7285 4,431,450.00 Member 12,277.27 E. R. 1803/2015 Foreign Exchange Future 0.00 1 1.000 250 250,000 17,7286 4,431,450.00 Member 12,277.27 E. R. 1803/2015 Foreign Exchange Future 0.00 1 1.000 30 30,000 17,6984 (53,088.20) Member 14,2215 E. R. 1803/2015 Foreign Exchange Future 0.00 1 1.000 30 30,000 17,6984 (53,088.20) Member 14,2215 E. R. 1803/2015 Foreign Exchange Future 0.00 1 1.000 25 25,000 17,7286 4,431,450.00 Member 14,2215 E. R. 1803/2015 Foreign Exchange Future 0.00 1 1.000 25 25,000 17,7984 350,882.00 Client 14,2215 E. R. 1803/2015 Foreign Exchange Future 0.00 1 1.000 25 25,000 17,7984 350,882.00 Client 14,2215 E. R. 1803/2015 Foreign Exchange Future 0.00 1 1.000 25 25,000 17,7984 24,722.50 Client 14,2215 E. R. 1803/2015 Foreign Exchange Future 0.00 1 1.000 3 3,000 13,900 13,900 14,2215 E. R. 1803/2015 Foreign Exchange Future 0.00 1 1.000 3 3,000 13,900	0:23:15	£ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	6	6,000	17.6967		(106,180.20) Member	Sell
10.284 \$\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	0:23:15	£ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	6	6,000	17.6967		106,180.20 Client	Buy
1948-30 E./R 180932015 Foreign Exchange Future 0.00 1 1.000 250 250,000 17,8848 4,421,200.0 Memb	0:28:46	£ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	100	100,000	17.6904		(1,769,040.00) Member	Sell
10.483.0 \$\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	0:28:46	£ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	100	100,000	17.6904		1,769,040.00 Client	Buy
12-272 2 R R 8032015 Foreign Exchange Future 0.00 1 1.000 250 250,000 17.7288 (4.431,450.00) Membe	0:48:30	£ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	250	250,000	17.6848		4,421,200.00 Member	Buy
12-27-27 E / R 16/03/2015 Foreign Exchange Future 0.00 1 1.000 250 250.000 17.7258 4.431,450.00 Membe 42-216 E / R 16/03/2015 Foreign Exchange Future 0.00 1 1.000 30 30.000 17.6954 503.062.00 Membe 42-2216 E / R 16/03/2015 Foreign Exchange Future 0.00 1 1.000 25 25.000 17.7089 442,722.50 Membe 42-2550 E / R 16/03/2015 Foreign Exchange Future 0.00 1 1.000 25 25.000 17.7089 442,722.50 Membe 42-2550 E / R 16/03/2015 Foreign Exchange Future 0.00 1 1.000 25 25.000 17.7089 442,722.50 Client Total Future Total Future Total Options Total Option	0:48:30	£ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	250	250,000	17.6848		(4,421,200.00) Member	Sell
	2:27:27	£ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	250	250,000	17.7258		(4,431,450.00) Member	Sell
14.22.16 £ / R 6/03/2015 Foreign Exchange Future 0.00 1 1,000 25 25,000 17.6954 530,862.00 Client 14.295.0 £ / R 16/03/2015 Foreign Exchange Future 0.00 1 1,000 25 25,000 17.7099 44.27,225.00 Client 14.295.0 £ / R 16/03/2015 Foreign Exchange Future 0.00 1 1,000 25 25,000 17.7099 44.27,225.00 Client 14.295.0 Exchange Future 0.00 1 1,000 25 25,000 17.7099 44.27,225.00 Client 14.295.0 Exchange Future 0.00 1 1,000 3 3.000 13.9322 41.706.00 Memb 10.732 £ / R 16/03/2015 Foreign Exchange Future 0.00 1 1,000 3 3.000 13.9322 41.706.00 Memb 10.732 £ / R 16/03/2015 Foreign Exchange Future 0.00 1 1,000 60 60,000 13.9100 634.600.00 Memb 10.2315 £ / R 16/03/2015 Foreign Exchange Future 0.00 1 1,000 60 60,000 13.9100 634.600.00 Memb 10.2315 £ / R 16/03/2015 Foreign Exchange Future 0.00 1 1,000 60 60,000 13.9100 634.600.00 Memb 10.2315 £ / R 16/03/2015 Foreign Exchange Future 0.00 1 1,000 10 10,000 13.9000 13.9100 634.600.00 Memb 10.2315 £ / R 16/03/2015 Foreign Exchange Future 0.00 1 1,000 10 10,000 13.9000 13	2:27:27	£ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	250	250,000	17.7258		4,431,450.00 Member	Buy
14.29.50 E /R 16/03/2015 Foreign Exchange Future 0.00 1 1.000 25 25.000 17.7089 (442.722.50 Client 14.29.50 E/R 16/03/2015 Foreign Exchange Future 0.00 1 1.000 25 25.000 17.7089 442.722.50 Client 14.29.50 Client 1.000	4:22:16	£ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	30	30,000	17.6954		(530,862.00) Member	Sell
14-29-50 E/R 16/03/2015 Foreign Exchange Future 11 726 726,000	4:22:16	£ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	30	30,000	17.6954		530,862.00 Client	Buy
Total Futures 11 726 726,000 12,871,400.20 Total Foreign Exchange Future 0.00 1 1.000 3 3.000 13,9322 41,796.60 Member 10:07:32 6/R 16:03:2015 Foreign Exchange Future 0.00 1 1.000 3 3.000 13,9322 41,796.60 Client 10:23:15 6/R 16:03:2015 Foreign Exchange Future 0.00 1 1.000 60 60.000 13,9100 (834,600.00) Member 10:03:14 6/R 16:03:2015 Foreign Exchange Future 0.00 1 1.000 60 60.000 13,9100 (834,600.00) Member 10:23:15 6/R 16:03:2015 Foreign Exchange Future 0.00 1 1.000 60 60.000 13,9100 (834,600.00) Member 10:23:15 6/R 16:03:2015 Foreign Exchange Future 0.00 1 1.000 60 60.000 13,9100 (834,600.00) Member 10:33:46 6/R 16:03:2015 Foreign Exchange Future 0.00 1 1.000 10 10.000 13,9000 139,0000 139,0000 Member 10:33:46 6/R 16:03:2015 Foreign Exchange Future 0.00 1 1.000 10 10.000 13,9000 139,0000 139,0000 Member 11:32:55 6/R 16:03:2015 Foreign Exchange Future 0.00 1 1.000 30 30,000 13,9177 417,531.00 Member 11:32:55 6/R 16:03:2015 Foreign Exchange Future 0.00 1 1.000 30 30,000 13,9177 417,531.00 Member 11:32:55 6/R 16:03:2015 Foreign Exchange Future 0.00 1 1.000 30 30,000 13,9177 417,531.00 Member 11:32:55 6/R 16:03:2015 Foreign Exchange Future 0.00 1 1.000 30 30,000 13,9017 417,531.00 Member 11:32:55 6/R 16:03:2015 Foreign Exchange Future 0.00 1 1.000 250 250,000 13,9039 (3,475,575.00) Member 11:32:55 6/R 16:03:2015 Foreign Exchange Future 0.00 1 1.000 250 250,000 13,9039 (3,475,575.00) Member 11:32:55 6/R 16:03:2015 Foreign Exchange Future 0.00 1 1.000 100 100,000 13,9000 01,300,000 01,300,000 01,300,000 01,300,000 01,300,000 01,300,000 01,300,000 01,300,000 01,300,000 01,300,000 01,300,000 01,300,000 01,300,000 01,300,000 01,300,000 01,300,000 01,300,000 01,300,000 01,300,000	4:29:50	£ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	25	25,000	17.7089		(442,722.50) Member	Sell
Total for £ / R Foreign Exchange Future	4:29:50	£ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	25	25,000	17.7089		442,722.50 Client	Buy
Total for £ / R Foreign Exchange Future	otal Futu	res				11		726	726,000			12 871 400.20	
10.07:32	otal Option	ons											
10.07.32	otal for £	/ R Foreign Exchang	e Future			11		726	726,000			12,871,400.20	
10:23:15	0:07:32	€ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	3	3,000	13.9322		(41,796.60) Member	Sell
10.23:15	0:07:32	€ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	3	3,000	13.9322		41,796.60 Client	Buy
10:38:46	0:23:15	€ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	60	60,000	13.9100		(834,600.00) Member	Sell
10:38:46 € / R 16/03/2015 Foreign Exchange Future 0.00 1 1,000 10 10,000 13.9000 13.9000 Client 11:32:55 € / R 16/03/2015 Foreign Exchange Future 0.00 1 1,000 30 30,000 13.9177 417,531.00 Client 11:32:55 € / R 16/03/2015 Foreign Exchange Future 0.00 1 1,000 30 30,000 13.9177 (417,531.00) Member 11:46:54 € / R 16/03/2015 Foreign Exchange Future 0.00 1 1,000 320 320,000 13.9041 4,449,312.00 Client 11:46:54 € / R 16/03/2015 Foreign Exchange Future 0.00 1 1,000 250 250,000 13.9041 4,449,312.00 Client 11:46:54 € / R 16/03/2015 Foreign Exchange Future 0.00 1 1,000 70 70,000 13.9039 (3,475,975.00) Member 11:51:29 € / R 16/03/2015 Foreign Exchange Future 0.00 1 1,000 70 70,000 13.9047 (973,329.00) Member 11:51:29 € / R 16/03/2015 Foreign Exchange Future 0.00 1 1,000 100 100,000 13.9000 (1,390,000.00) Member 11:51:29 € / R 16/03/2015 Foreign Exchange Future 0.00 1 1,000 100 100,000 13.9000 (1,390,000.00) Client 12:21:22 € / R 16/03/2015 Foreign Exchange Future 0.00 1 1,000 100 100,000 13.9000 69,450.00 Client 12:21:22 € / R 16/03/2015 Foreign Exchange Future 0.00 1 1,000 5 5,000 13.8900 69,450.00 Client 13:35:09 € / R 16/03/2015 Foreign Exchange Future 0.00 1 1,000 120 120,000 13.8500 (69,450.00) Member 13:35:09 € / R 16/03/2015 Foreign Exchange Future 0.00 1 1,000 120 120,000 13.8500 (1,662,000.00) Member 13:35:09 € / R 16/03/2015 Foreign Exchange Future 0.00 1 1,000 120 120,000 13.8500 (1,662,000.00) Member 14:2:07 € / R 16/03/2015 Foreign Exchange Future 0.00 1 1,000 20 20,000 13.8501 (277,002.00) Member 16:42:07 € / R 16/03/2015 Foreign Exchange Future 0.00 1 1,000 20 20,000 13.8501 (277,002.00) Member 16:42:07 € / R 16/03/2015 Foreign Exchange Future 0.00 1 1,000 20 20,000 13.8501 (277,002.00) Member 16:42:07 € / R 16/03/2015 Foreign Exchange Future 0.00 1 1,000 20 20,000 13.8501 (277,002.00) Member 16:42:07 € / R 16/03/2015 Foreign Exchange Future 0.00 1 1,000 20 20,000 13.8501 (277,002.00) Member 16:42:07 € / R 16/03/2015 Foreign Exchange Future 0.00 1 1,000 20 20,000 13.8501 (277,002.00) Member 16:42:07 € / R 1	0:23:15	€ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	60	60,000	13.9100		834,600.00 Client	Buy
11:32:55	0:38:46	€ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.9000		(139,000.00) Member	Sell
11:32:55	0:38:46	€ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.9000		139,000.00 Client	Buy
11:46:54	1:32:55	€ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	30	30,000	13.9177		417,531.00 Client	Buy
11:46:54	1:32:55	€ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	30	30,000	13.9177		(417,531.00) Member	Sell
11:46:54	1:46:54	€ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	320	320,000	13.9041		4,449,312.00 Client	Buy
11:51:29	1:46:54	€ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	250	250,000	13.9039		(3,475,975.00) Member	Sell
11:51:29	1:46:54	€ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	70	70,000	13.9047		(973,329.00) Member	Sell
12:21:22	1:51:29	€ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.9000		(1,390,000.00) Member	Sell
12:21:22	1:51:29	€ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.9000		1,390,000.00 Client	Buy
13:35:09	2:21:22	€ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.8900		69,450.00 Client	Buy
13:35:09 € / R 16/03/2015 Foreign Exchange Future 0.00 1 1,000 120 120,000 13.8500 (1,662,000.00) Member 16:42:07 € / R 16/03/2015 Foreign Exchange Future 0.00 1 1,000 20 20,000 13.8501 277,002.00 Client 16:42:07 € / R 16/03/2015 Foreign Exchange Future 0.00 1 1,000 20 20,000 13.8501 (277,002.00) Member 16:42:07 € / R 16/03/2015 Foreign Exchange Future 0.00 1 1,000 20 20,000 13.8501 (277,002.00) Member 16:42:07 € / R 16/03/2015 Foreign Exchange Future 0.00 1 1,000 20 20,000 13.8501	2:21:22	€ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.8900		(69,450.00) Member	Sell
13:35:09	3:35:09	€ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	120	120,000	13.8500		1,662,000.00 Client	Buy
16:42:07 € / R 16/03/2015 Foreign Exchange Future 0.00 1 1,000 20 20,000 13.8501 (277,002.00) Member 16:42:07 € / R 16/03/2015 Foreign Exchange Future 0.00 1 1,000 20 20,000 13.8501 (277,002.00) Member 10:42:07 € / R 16/03/2015 Foreign Exchange Future 0.00 1 1,000 20 20,000 13.8501	3:35:09	€ / R 16/03/2015	Foreign Exchange Future			1	1,000		120,000	13.8500		(1,662,000.00) Member	Sell
16:42:07 € / R 16/03/2015 Foreign Exchange Future 0.00 1 1,000 20 20,000 13.8501 (277,002.00) Member 16:42:07 € / R 16/03/2015 Foreign Exchange Future 0.00 1 1,000 20 20,000 13.8501 (277,002.00) Member 10:42:07 € / R 16/03/2015 Foreign Exchange Future 0.00 1 1,000 20 20,000 13.8501	6:42:07	€ / R 16/03/2015	Foreign Exchange Future			1	1,000		20,000	13.8501		277,002.00 Client	Buy
16:42:07 € / R 16/03/2015 Foreign Exchange Future 0.00 1 1,000 20 20,000 13.8501 (277,002.00) Member	6:42:07	€ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	20	20,000	13.8501		(277,002.00) Member	Sell
16:42:07 €/R 16/03/2015 Foreign Exchange Future 0.00 1 1.000 20 20.000 13:8501 277:002:00 Client	6:42:07	€ / R 16/03/2015	Foreign Exchange Future			1	1,000	20		13.8501		(277,002.00) Member	Sell
217,002.00 01011	6:42:07	€ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	20	20,000	13.8501		277,002.00 Client	Buy

Page 8 of 9 2015/01/08, 06:21:44PM

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
Total Futu	ıres			11		688	688,000			9 557 689.60	
Total Opti	ions										
Total for €	€ / R Foreign Exchang	e Future		11		688	688,000			9,557,689.60	
12:58:55	AU\$ / R 16/03/2015	Foreign Exchange Future	0.00) 1	1,000	250	250,000	9.4825		(2,370,625.00) Member	Sell
12:58:55	AU\$ / R 16/03/2015	Foreign Exchange Future	0.00) 1	1,000	250	250,000	9.4825		2,370,625.00 Member	Buy
Total Futu	ires			1		250	250,000			2 370 625.00	
Total Opti	ions										
Total for A	AU\$ / R Foreign Excha	nge Future		1		250	250,000			2,370,625.00	
12:26:17	QUANTO € / \$ 16/03/2	0 Foreign Exchange Future	0.00) 1	10,000	2	20,000	1.1793		23,586.00 Client	Buy
12:26:17	QUANTO € / \$ 16/03/2	0 Foreign Exchange Future	0.00) 1	10,000	2	20,000	1.1793		(23,586.00) Member	Sell
14:34:26	QUANTO € / \$ 16/03/2	0 Foreign Exchange Future	0.00) 1	10,000	1	10,000	1.1788		11,788.00 Client	Buy
14:34:26	QUANTO € / \$ 16/03/2	0 Foreign Exchange Future	0.00) 1	10,000	1	10,000	1.1788		(11,788.00) Member	Sell
14:51:58	QUANTO € / \$ 16/03/2	0 Foreign Exchange Future	0.00) 1	10,000	1	10,000	1.1796		11,796.00 Client	Buy
14:51:58	QUANTO € / \$ 16/03/2	0 Foreign Exchange Future	0.00) 1	10,000	1	10,000	1.1796		(11,796.00) Member	Sell
14:52:11	QUANTO € / \$ 16/03/2	0 Foreign Exchange Future	0.00) 1	10,000	1	10,000	1.1796		11,796.00 Client	Buy
14:52:11	QUANTO € / \$ 16/03/2	0 Foreign Exchange Future	0.00) 1	10,000	1	10,000	1.1796		(11,796.00) Member	Sell
14:52:33	QUANTO € / \$ 16/03/2	0 Foreign Exchange Future	0.00) 1	10,000	3	30,000	1.1797		35,391.00 Client	Buy
14:52:33	QUANTO € / \$ 16/03/2	0 Foreign Exchange Future	0.00) 1	10,000	3	30,000	1.1797		(35,391.00) Member	Sell
15:57:11	QUANTO € / \$ 16/03/2	0 Foreign Exchange Future	0.00) 1	10,000	5	50,000	1.1806		59,030.00 Client	Buy
15:57:11	QUANTO € / \$ 16/03/2	0 Foreign Exchange Future	0.00) 1	10,000	5	50,000	1.1806		(59,030.00) Member	Sell
Total Futu	ıres			6		13	130,000			153 387.00	
Total Opti	ions										
Total for 0	QUANTO € / \$ Foreign	Exchange Future		6		13	130,000			153,387.00	
Total Futu	ires			152		55,506	60,572,500			717 703 601.20	
Total Opti	ons			7		14,000	14,000,000			1 955 000 000.00	
Grand To	otal for all Instrume	nts		159		69,506	74,572,500		;	2,672,703,601.20	